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PART- III 

lGwoflés56yLD. 

4307227 

e ulflw6U/ BIOLOGY 

GDÜy : (0) n6tSg oloinHS(TH`GD alcnL woflä5aJD. 

Check the question paper for fairness of printing. If there is any lack of fairness, 
inform the Hall Supervisor immediately . 

[Maximum Marks : 70 

Use Blue or Black ink to write and underline and pencil to draw diagrams. 

Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate answer books. 

LSliey - 1 / SECTION -1 

Answer all the questions. 

7627 

LDLGGD 

uGS - I (e ulf-sM6JJ6Slue) / PART -I (BIO-BOTANY) 
(LDUGIG�T S0T:35) / (Marks : 35) 

8x1=8 

Choose the most appropriate answer from the given four alternatives and write the option code and the corresponding answer. 
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3. 

1. 

2. 

A 

7627 

56T Lglweyo. 

() 12 ATIHND (g%)3 riGOD (9) 30 A ÉN(EHAND (n) 6 yrhsm,anis 

T the diameter of the pulley is 12 inches, Jength of pointer is 10 inches and distance travell 

by pointer is 5 inches, calculate the actual growth in length of plant : 
(a) 12 inches 

(a) 

(b) 

Aggregate fruit develops from : 

(b) 3 inches 

Multicarpellary ovary 

Multicarpellary, syncarpous ovary 
(c) Whole inflorescence 

(d) Multicarpellary, apocarpous ovary 

() srQluo 

The element which is not remobilized 

(a) Calcium 

2 

(b) Phosphorus 

(c) 30 inches 

(c) Nitrogen 

(d) 6 inches 

Potassm 
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4. 

5 

6. 

A 

() 6oGunGsmD 

(a) Chloroplast 

Which one of the following cell organelles is used to trace human origins ? 

() 

() mLN Gaflum 

Ribosonme 

(9Y 6Garralgcbar 

(a) Laminaria 

(c) Chlorella 

(a) 

( 94) GsrOGO5 9LD 

Which one of the following algae is used for sewage treatment ? 

(c) 

(b) Golgi body 

(d) 

(b) Cork Cambium 

3 

() Giu GTLlao 

() 5T0 Gsbó HODHs(HÙLSI 

(d) Cambium for secondary growth 

(Fr) 9sc 

(b) 

(d) 

Mitochondria 

() QuDGT JLDTS GUTGGOmd 5)ODS6TT ADLDbs(GÙLS 

Vascular bundles arranged in a ring 

Grafting is successful in Dicots but not in Monocots because the dicots have : 

Ascophyllum 
Fucus 

Vessels with elements arranged end to end 
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7627 
7. 

8. 

A 

() owjHJMAT ßyrolo Gum`G 

(&) Gomnlw nGAHHID 

What type of transpiration is possible in the Xerophyte Opuntia ? 

(a) Lenticular 

(b) Cuticular 

(c) Stomatal 

(d) All the above 

4 

() PSI -cÝ oSloa DUIDTEI LI`GNEULD 'a' -Mor pafil miÜy 2asn 680 nm ub. 

()poflsmt Bit uGÜy PS I 2Lst GgmLTyOLU51. 

(@) PSII -6 l6n6T 60DJLDT6OT IEGOFWLD 'a -6T porl FTæLY 2 FD 700 nm 9,(5Lio. 

(FF) PS I oogó PS II lJGn6J NADPH +H* ehouTgdli UråJ(G GLupilpy. 

Identify the true statement regarding light reaction of photosynthesis. 

(a) The reaction center of PS I is chlorophyll 'a' with absorption peak at 680 nm 

(b) Photolysis of water is associated with PSI 

(c) The reaction center of PS II is chlorophyll 'a' with absorption peak at 700 nm 

(d) PSI and PS Il involved in the formation of NADPH+H+ 
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Note : 

10. 

11. 

Answer any four questions. 

A 

LDJGJLSww opgib DJ`STOblenauw�) - GaugUO55. 

lflo -2/ SECTION - 2 

Differentiate - dendrochronology and dendroclimatology. 

Define 'Synapsis'. 

Write any two non-living characters of virus. 

5 

12. 56n5ÙUDDJATGT 5TQUTIHJ56fli) 6uTE FO LDlÜy yspwD. JoÜT ? 

Respiratory quotient is zero in succulent plants. Why ? 

13. psO�TI L GUDblos 560a Qerjsd BH5. 

(9) P5 GJaTLDIDID LDGJB5 5T6T 

(a) 

Give the technical terms for the following : 

A sterile stamen 

(b) Stamens are united in one bundle. 

14. BfluwO pn6AH 5LQÜUgu Sag5ar umana ? 

What are the parameters which control Water Potential ? 

7627 
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Note 

15. 

16. 

18. 

19. 

20. 

A 

Write short notes about Hvdroponics or soilless culture. 

Draw and label the parts of regions of root. 

6flGo LG0T LJ8560GT GT(|5. 

Answer any three questions. Question No. 19 is Compulsory. 

Differentiate -haplontic and diplontic life cycle. 

Write the properties of water. 

Lflo3/SECTION -3 

Write the functions of Nucleus. 

Note : Answer all the questions. 

(a) 

(b) 

6 

() DNA -al6o lpuwys6n6T GT (9gi6 

(b) 

OR 

lflsy -4/ SECTION -4 

Write the botanical description of Allium cepa. 

21. () 4lr uau appáluSlnc cslná£G,s (cleröb (AWNH) auJULÓ) 

Write the characteristic features of DNA. 

OR 

(a) Explain the Krebs Cycle. (Explanation (or) Flow Chart) 

Give a general account on lichens. 

3x3m9 

2x5=10 

(5,) 

1 
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=9 

10 

Note : 

1 

2. 

A 

(a) 

(b) 
(c) 
(d) 

(ii) 

(i) 

(a) 

(1) 

() uflaTT LD LDDDo DTYOJ 

(b) 

ue II (e u-slerivuUG)) / PART - IL (BI0-Z00LOG) 

(LousTB6: 35) / (Marks : 35) 

GT (PGOLo. 

Which of the following characters does a cladogram have ? 

(c) 

Answer all the questions. 

Lflsy 1/SECTION - 1 

the option code and the corresponding answer. 
Choose the most appropriate answer from the given four alternatives and write 

7 

Taxonomic and Systematic 
Physiological and Biochemical 

Cell and Histology 

Vital capacity is : 

() TÚHAu Qsnearaay + Qleuefl asaurs GsibliLys Qar�TaTaT 

Evolutionary and Phylogenetic 

Residual Volume (RV) + Expiratory Reserve Volume (ERV) 
Tidal Volume (TV) + Inspiratory Reserve Volume (|RV) 
Tidal Volume (TV) + Inspiratory Reserve Volume (IRV) + 

Expiratory Reserve Volume (ERV) 
(d) Tidal Volume (TV) + Expiratory Reserve Volume (ERV) 

7627 

8x1=8 
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5. 

|A 

7627 

3. 

() umGJLDLDTHA 

(F) GBr Qswaur 
First step in digestion of fat is: 

(a) 

(b) 

(c) 

Absorption by lacteals 

(d) Enzyme action 

Emulsification 

4. GumGTGOELQ56iT 5160Tæ UQoJ5 : 

Storage in adipose tissue 

() uGTLDTGofl 6sT leöoT 608Tlauafltoufla 

(a) 

(FF) GTTLDITGfl6T lGoT E0OT 2Loufli 

(b) 

Podocytes are the cells present on the : 

(c) 

Neck of nephron 
Outer wall of Bowman's capsule 

Wall of glomerular capillaries 
(d) Inner wall of Bowman's capsule 

() sTLd 

() g0GrrQDsTs 
lodised salt is essential to prevent : 

(a) goitre 

(c) acromegaly 

8 

(B) flisQsLGU 

(F) Gi5 ir6 

(b) rickets 

(d) scurvy 
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|A 

6. 

7. 

() oaDUGUTGomLDGD 

Which is called as "Emotional brain" ? 

(a) 

(Q) sn0ÜGUTJn G,QuTLf agle 

(c) 

(c) 

(a) 

(b) 

Assertion : 

(d) 

Hypothalamus 

Reason : 

Corpora quadrigemina 

() GTLO 

() SaDgo srJ600T(pD sfl LDDgD sflums QsmL0yuOsBÜULaTg 

9 

() aSloa LDG�T L GDD 

(b) 

(d) 

Medulla oblongata 

Limbic system 

Nuptial flight is a unique flight taken by the queen bee followed by several 
drones. 

The queen bee produces a hormonal chemical substance called pheromone. 
The drones in that area are attracted to the pheromone and then mating 
takes place. 

Assertion and reason are correct and related. 

Assertion and reason are correct but not related. 

7627 

Assertion and reason are incorrect and not related. 

Assertion and reason are incorrect but related. 
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8. 

9. 

( )QoITGOSH 

() pæuflorOTL� 

() 5JæUTGT Hflula utiN• 5ITG0TÜJQaslGna 

10. 

A 

(F) ufloTG80T LD 

The type of vision in cockroach is: 

(a) 

(b) 

Note : 

(c) 

(d) 

Mosaic 

Three dimensional 

Cockroach does not have vision 

Two dimensional 

Answer any four questions. 

10 

Lfloy - 2/ SECTION -2 

QLLLGofl sroJQJTI gOUGâpg ? 

How is tetany caused ? 

5oJ6NOTu9l6) m600T LI LIQ� SOJITE (Lp6M560)6IT T(DH. 

Write the types of respiration seen in frog. 

4x2=8 
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11. 

14. 

13. Datlgtle u�GS$JH0S BH5. 

15. 

Ditferentiate between probiotics and pathogenic bacteria. 

16. 

11 

Ar, moVing trom the nose to the trachea, nasses through a number of structures. LSt tme 

order of the structures. 

Write the dental formula of human. 

A 

What are flame cells ? 

(5lÜy : 6T66GuoD eypsitn1 olorT`S(GT; ̀ G ol6nuwaflssoyi. olotT Gr e88T 19-sG 

5LLTuoTES GlsnLwafla5|0. 

Note : Answer any three questions. Question No. 19 is Compulsory. 

Llifle -3/ SECTION - 3 

Differentiate white adipose tissue from brown adipose tissue. 

7627 

How will you identify Healthy Cattle ? Name any two cattle diseases. 

BALDITGAT 5/T6)I56)LG606T GTGJOUT 600T L plwOTD ? GT 6) OJ Bu)o QJOT ( 51GBGOL 

GrsmiSGnGT` 

3x39 

17. 
? 60ol orÜGUTG) DÖDLO GTæUlg 9_68T LT ̀S850-

What are the heart sounds ? When and how are these sounds produced ? 

[ $Ü;5 / Turn over 
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7627 
18, 

19. 

Note : 

20. 

Name the Lavers of Adrenal Cortex and mention their Secretions. 

Differentiate osmoconformers from osmoregulators. 

(flÜy : mNHS larSGHH(GLD GleoLwaflssa|D. 

12 

Llifloy - 4/ SECTION - 4 

Answer all the questions. 

(9) SGHTGM) OLw olariG5MAT (PSIGHTGOIDD 6lara(G,35Gfl Lbl(5b5) GouguH5. 

(g) Grelk sm6TÜLGD 2 eT0GaulsnaT lrs (GE5. 
(a) Differentiate the Chordate animals from non-chordate animals. 

(a) 

(b) 

(b) Explain the sensory receptors present in the skin. 

OR 

21. () aTE LD6�T L QUSEso LIGofl5ei LITGDOJ? 

GemUm) 
What are the functions of respiratory system ? 

OR 

2x5=10 

Enumerate the schematic presentation of muscle contraction (sliding -filament theory). 

-o0o -
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